x= 60/6            x = 10
 

y = 1.324.000/6      y = 220.660,66

          i=6

Σ  x’i y’i
b =     i=1
=
5.864.000,50
b = 20.942,859

i=6                          280
 Σ (x’)2
i=1
a = y -  b x = 220.660,66 – (10) (20.942,859)   a = 11.232,07
y – y = b ( x- x )
y – 220.660.66 = 20.942,859 (x – 10)
y = 20.942,859x – 209.428.59 + 220.660.66
y =11.232,07 +  20.942,859x
I1 =   197.321,25   = 0,1490
                   I2 =  35.872,2570  = 0,1626
        1.323.964,03                                         220.660,68
 7.720.912.923,62

δ= 1- 
= 0,48
          14.942.688.607,16
